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Question

1. If  are vectors such that  then 
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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iwqWTWR2pHwo


2. The locus of the midpoint of the chord of the circle

 which subtends a right angle at the origin

is?

Watch Video Solution

x2 + y2 = 4

3. Area of the triangle formed by the complex number z,

iz and z+iz is __________

Watch Video Solution

4. The number of divisors of the form  of the

integer 240 is

Watch Video Solution

(4n + 2)

https://dl.doubtnut.com/l/_WoLDpA6OW4FQ
https://dl.doubtnut.com/l/_4qnzqup0KirS
https://dl.doubtnut.com/l/_gf4kaqUDyVh7


Watch Video Solution

5. 17. If  are in G.P, then

 are in

Watch Video Solution

x > 1, y > 1, z > 1
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6. Given  where

 and  are not all zero, then  =

___________

Watch Video Solution

x = cy + bz, y = az + cx, z = bx + ay

x, y z a2 + b2 + c2 + 2abc

https://dl.doubtnut.com/l/_gf4kaqUDyVh7
https://dl.doubtnut.com/l/_XueOBzwpng2s
https://dl.doubtnut.com/l/_HuMGPMXHVWOi


7. The minimum number of times a fair coin needs to be

tossed, so that the probability of getting at least two

heads is at least  is ______.

Watch Video Solution

0.96,

8. The DE representing the family of curves

 where  is the positive parameter is

of?

Watch Video Solution

y2 = (2c + x2021) c

9. Find the equation of the normal to the curve 

which passes through the point (1, 2).

x2 = 4y

https://dl.doubtnut.com/l/_m40ru0Gv6TBF
https://dl.doubtnut.com/l/_PdHQ6XtJMIaq
https://dl.doubtnut.com/l/_NnNzbTQX6TgF


Watch Video Solution

10. If  then find 

Watch Video Solution

A + B + C = 180o

tanA + tanB + tanC =

11. If  and  unimodular complex number that satisfy 

 then  is equal to

Watch Video Solution

z1 z2

z2
1 + z2

2 = 4 (z1 + ¯̄¯z1)2(z2 + ¯̄¯z2)2

https://dl.doubtnut.com/l/_NnNzbTQX6TgF
https://dl.doubtnut.com/l/_mAs6mggRgCwk
https://dl.doubtnut.com/l/_Z72GDjh7Td0D


12. A person writes letters to 6 friends and addresses a

corresponding envelope. The number of ways in which 5

letters can be placed in the wrong envelope is?

Watch Video Solution

13. 

Watch Video Solution

∫(elogx + sinx)cos xdx

https://dl.doubtnut.com/l/_X4vaiARYFvRf
https://dl.doubtnut.com/l/_CCdWW7Wn1v5g

